€2¢0¢2/G0/01 U0 pajuld - LAQNID

1G1

Sl

Sl

€51

0S1L

6Vl

2148

yA4"

ol

8¢l

LGl =G +¢8

YS9l =9.+8L

PGl =€L+18

€6l =/LL+9/

0S5l =9+ V.

6Vl =€L+9/

8Vl =¢L+9.

Lyl =v.L+€L

Ml =€L+€L

8¢l =G9+¢€/

€91 =8/ +G8

8Gl =8.+08

29l =1,+G8

€91 =.L+9/

0.1 =98+ ¥8

691 = €8 + 98

0SlL =¢€L+ /1L

6€l =0 +69

ovl =0L+ 04

96l =¥, +¢8

|ejol

umopyeaig 11oN

(£202/50/01) sdiysuoidweyn Aunod £202
synsay JeN uonnadwod

UoIJRIDOSSY }|09) salpe AJuno) syong

UMmopyealyg SS0J5)

iApealje os auop aAey noA ay| siay0b 000‘00S JoA0 pue
33Y4 S} "synsaJ uoiedwod pue sonisiels Buiob unoA ||B MaIA 0} W02 0QIPIMOH UM Ja)sibay

ol

ol

Aejupoep |ayoey
UIMPOO9 [ayoey
pAo|q eibiosg)
weyyes N7
uoIsop EeIpne|D
esyedeley eAuejyl
uosuiqoy Ain
ssuapng ejl3
siuua uebay

Seuor sllpWY

SweN

ol

4

l

S04

| uoising

(pay) uresH |[emyoel4 83 1/8SIN0)
Aejdayouys :adA) aioag



€20¢2/G0/01 U0 pajuld - LAQNID

081

8.1

8.1

€Ll

9l

19k

191

1G1

08l =6+ €8

8/1 =98 + 6

8/l =G8 + €6

€/l =88 +G8

Y9l =6L+G8

191l =18+08

L9l =6.+¢8

LGl =6L+8L

161 =9.+18

UROPYESIg TSN

¢lz=¢€ll +66

61 = 6 + 00}

88l = 06 + 86

L0C =0l + 66

8.1 =98 +¢6

18l =16+06

€91 =08 +¢€8

G8l = €6 +¢6

€6l =v. +6.

Umopyealg Ssoi9

iApealje os auop aAey noA ay1| siay0b 000‘00S JoA0 pue
33Y4 S} "synsaJ uoiedwod pue sonsiels Buiob JnoA ||B MaIA 0} WD 0QIPIQMOH UM Ja)sibay

9l

142

ol

uosladdiH Atepy 6l
yeioheH a161099 8l
199y apoleyd Ll
uosBpoH Aag 9l
Bury ejpwed Sl
Jnowis yieg vl
Aoxep\ 1waQq el
}JJoH uouueys Zl

SIUNY eljewy L

sweN Sod

| uoising

(pey) yiesH [[emyoe|4 :89]/8SIN0)
Aeidayousig :9dA) aloog



